
Histogramas Si = log10(Fi/max{F123}) – Experimento 2 (3 MEPs/ângulo)
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Histograma log10(Fi/max{F123})
351 MEPs cumulative (real) - mt 100 

3.5 3.0 2.5 2.0 1.5 1.0 0.5 0.0 0.5
10 3

10 2

10 1

100

Histograma log10(Fi/max{F123})
351 MEPs cumulative (simulated R**0.8)
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Histograma log10(Fi/max{F123})
1791 MEPs cumulative (real) - mt 110 
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Histograma log10(Fi/max{F123})
1791 MEPs cumulative (simulated R**1.1)
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Histograma log10(Fi/max{F123})
357 MEPs cumulative (real) - mt 120 
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Histograma log10(Fi/max{F123})
357 MEPs cumulative (simulated R**1.05)
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Histograma log10(Fi/max{F123})
1794 MEPs cumulative (real) - mt 140 
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Histograma log10(Fi/max{F123})
1794 MEPs cumulative (simulated R**0.9)
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Histograma log10(Fi/max{F123})
1797 MEPs cumulative (real) - mt 180 
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Histograma log10(Fi/max{F123})
1797 MEPs cumulative (simulated R**0.5)


